
Appearances to the mend  are of four ktnds.
Thmgs  either are what they appear to be ,

Or they etther are, nor appear to be ,

Or they are and do not appear to be ,
Or they are not. and yet appear lo be

Rtghtly to aim  in all these cases IS the wise  man’s tash
Greek Philqsopher lil’T(:  i’E ills
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j  = 1,2,3,4

tdomaaiian~aou  B tslor~~~lt~u
C =  2.3026(43(1.5979)-79.81543)/~1~1/3(4-1))(0.475-1/43)j =  0 . 3 4 1

'L~~~~ 4 = 47-4 = 43, lo&y/d = lo.g(3113.6/43) = 1.85979

Fmax = 88.6/63.8  = 1.3888
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l5 (15) (0.5)X(r,.5)15-x
p= 51 x

= 0 .OS!)

Z = (0.16-0.20~~20~0.80)/100  =  - 1 . 0 0
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